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QUESTION 1

You have recently configured an IPsec tunnel between two SRX Series devices. One of the devices is assigned an IP
address using DHCP with an IP address that changes frequently. Initial testing indicates that the IPsec tunnel is not
working. Troubleshooting has revealed that Phase 1 negotiations are failing. 

Which two actions would solve the problem? (Choose two.) 

A. Verify that the device with the IP address assigned by DHCP is the traffic initiator. 

B. Verify that VPN monitoring is enabled. 

C. Verify that the IKE policy is configured for aggressive mode. 

D. Verify that PKI is properly configured. 

Correct Answer: AC 

 

QUESTION 2

Which two modes are supported during the Phase 1 IKE negotiations used to establish an IPsec tunnel? (Choose two.) 

A. transport mode 

B. aggressive mode 

C. main mode 

D. tunnel mode 

Correct Answer: BC 

 

QUESTION 3

Click the Exhibit button. 
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You notice that your SRX Series device is not blocking HTTP traffic as expected. Referring to the exhibit, what should
you do to solve the problem? 

A. Commit the configuration. 

B. Reboot the SRX Series device. 

C. Configure the SRX Series device to operate in packet-based mode. 

D. Move the deny-http policy to the bottom of the policy list. 

Correct Answer: B 
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QUESTION 4

Which SRX5400 component is responsible for performing first pass security policy inspection? 

A. Routing Engine 

B. Switch Control Board 

C. Services Processing Unit 

D. Modular Port Concentrator 

Correct Answer: C 

 

QUESTION 5

You are asked to support source NAT for an application that requires that its original source port not be changed. 

Which configuration would satisfy the requirement? 

A. Configure a source NAT rule that references an IP address pool with interface proxy ARP enabled. 

B. Configure the egress interface to source NAT fixed-port status. 

C. Configure a source NAT rule that references an IP address pool with the port no-translation parameter enabled. 

D. Configure a source NAT rule that sets the egress interface to the overload status. 

Correct Answer: C 
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